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ME: F0I0 0SS U ADNY(SHS)(IELXSNL/NAL A
9l FRSAMY =T CER-ED
SA - () - NRANY - BES 0 &k 7= HDz2
Fodg SHEMN A AL 168,252 98,252 70,000
401 AIEBIL 2 CHEI 168,000 88,000 70,000
01 A& HI 118,000 68,000 50,000
O4R2 MBI, SEHL AY
Z & 100,000,000& 100,000 50,000 50,000
03 Al 2 THHI 40,000 20,000 20,000
O2nl Mot & E2=2F FHIYX=
g & 40,000,000 40,000 20,000 20,000
Aot EHIALY 10,000 5,000 5,000
401 AIEHIZ 2 CHYI 10,000 5,000 5,000
01 A& HI 10,000 5,000 5,000
O48td SINE Z&(2518 SXE 2 B
A) 4 & 10,000,000 10,000 5,000 5,000
At THOH &K 21,299 14,299 7,000
MEIE 23S 21,299 14,299 7,000
401 AIEHI L 2CHYI 17,000 10,000 7,000
01 A€ dl 17,000 10,000 7,000
Oege 2R SU2 BU(FSHH)
7,000,000 7,000 0 7,000
HY2HZH (=) (IIEHIIE) 91,458 91,238 220
Jl=&dl 91,458 91,238 220
Jl=&34 73,258 73,038 220
201 ¢er24| 26,698 26,478 220
01 AF2 22l bl 23,740 23,520 220
O0lE+E MHLR S == 220,000& 220 0 220




